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> # tose some coins
> sample(0:1, size=10, replace=TRUE)
[1] 0011011010
> # choose some lottery numbers
> sample(1:100, size=6, replace=FALSE)
[1] 53 33 12 91 3 89
> # sample from a multinomial distribution
> x <- sample(1:3, size = 100, replace = TRUE,
prob = c(.2, .3, .5))
> table(x)
X
1 2 3
18 40 42
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dbinom(x, size, prob, log=FALSE)

pbinom(q, size, prob, lower.tail
gbinom(p, size, prob, lower.tail

FALSE)
FALSE)

TRUE, log.p
TRUE, log.p

rbinom(n, size, prob)
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Fy'(u) =inf{z: Fx(z) = u}, + <u<\.
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P(F\(U) < 2) = P(inf{t : Fx(t) = U} < 2) = P(U < Fx(z)) = Fx(x)

AL X ) s A5 6l el e X WP (U) ool

LS dloes | Fy ' (1) osSae G @

b2 Ul lslons




S S s
oT A3l Fx () aip b b sy (3l e SO X 81 Jlezead JI S5 ook
U=Fx(X)~U(+,")
Mu\f@\)wﬁaa}fﬁ A;J:J)Sbggbwduﬁmg)b}@ c@w\)‘ob@‘b
S e
Fy'(u) =inf{z: Fx(z) = u}, + <u<\.

4$€%ﬁ6\ﬂol§j4[]~ U(',\)J;\
P(F\(U) < 2) = P(inf{t : Fx(t) = U} < 2) = P(U < Fx(z)) = Fx(x)

AL X ) s A5 6l el e X WP (U) ool

LS dloes | Fy ' (1) osSae G @
S 4S5 U(0,)) @i Sledalin S @

b2 Ul lslons




S S
oT A3l Fx () aip b b sy (3l e SO X 81 Jlezead JI S5 ook
U=Fx(X)~ U(+,))
Mu\y&\)wﬁaa}fﬁ A;Mﬁ‘)ﬁbwduﬁmd\j}@ cw‘ﬁ\)‘obl.%u‘b
Fy'(u) = inf{z : Fx(z)
P(Fy

% (U) <)

35 S ) e
up, + < u<)

@ ER p Gl KT U~ U(+,))
P(inf{t: Fx(t) = U} <z)= P(U < Fx(z)) = Fx(z),
&b X)‘dwv-u))(_s‘ju“ W\C:JJSVJBXLF_ (U)UJ\J.’L-
.,\.Swl;u\)

..LSJ.J).» U(',\)c})—’)‘OML\M& o

bl oLl Sluloes

S M\}}x_F)_(\(U) B I e cdalis @




o gy I e

fx(@z)=ya", « <z <.

Fx(z)=12" — Fy'(u) = u'/"
> n <- 1000
> u <- runif(n)
> x <- u”(1/3)
> # density histogram of sample
> # main = expression(f(x)==3*x"2)
> hist(x, prob = TRUE, main = bquote(f(x)==3%x"2))
>y <- seq(0, 1, .01)
> lines(y, 3%y~2) #density curve f(x)
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Fx(V) =V Fx(1)=f(") =V —puxlzts X ~ Ber(p=1+/¥) L5 ;54
Fi'(u) =+ cu <o /58 Sy s Fy'(u) = Vol eu > v /5 51 ol by

n <- 1000

p <- 0.4

u <- runif(n)

x <- as.integer(u
##H#

mean (x)

[1] 0.399

> var (x)

[1] 0.240039

> ## rbinom(n, size = 1, prob = p)

> ## sample(c(0,1), size = n, replace = TRUE, prob = c(.6,.4))

Vv

0.6) #(u > 0.6) is a logical vector
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> n <- 1000

>p <-0.25

> u <- runif(n)

> k <- ceiling(log(i-u) / log(i-p)) - 1
> # more efficient

> # k <~ floor(log(u) / log(i-p))
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n <- 1000

p <- 0.25

u <- runif(n)

k <- ceiling(log(1-u) / log(i-p)) -1
# more efficient

# k <- floor(log(u) / log(1i-p))
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rlogarithmic <- function(n, theta) {
#returns a random logarithmic(theta) sample size n
u <- runif(n)
#set the initial length of cdf vector
N <- ceiling(-16 / loglO(theta))
k <- 1:N
a <- -1/log(1-theta)
fk <- exp(log(a) + k * log(theta) - log(k))
Fk <- cumsum(fk)
x <- integer(n)
for (i in 1:n) {
x[i] <- as.integer(sum(ul[i]l > Fk)) #F {-1}(u)-1
while (x[il == N) {
#if x==N we need to extend the cdf

#very unlikely because N is large

logf <- log(a) + (N+1)*log(theta) - log(N+1)
fk <- c(fk, exp(logf))

Fk <- c(Fk, Fk[N] + fk[N+1])

N<-N+1

x[i] <- as.integer(sum(ul[i] > Fk))




> n <- 1000
> theta <- 0.5
> x <- rlogarithmic(n, theta)
> # compute density of logarithmic(theta) for comparison
> k <- sort(unique(x))
> p <- -1/ log(1l - theta) * theta"k / k
> se <- sqrt(p*(1-p)/n) # standard error
> round(rbind(table(x)/n, p, se),3)
1 2 3 4 5 6 8 9
0.713 0.194 0.060 0.019 0.009 0.002 0.001 0.002
p 0.721 0.180 0.060 0.023 0.009 0.004 0.001 0.000
se 0.014 0.012 0.008 0.005 0.003 0.002 0.001 0.001
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n <- 1000
k<=0 #counter for accepted
j <=0 #iterations
y <- numeric(n)

while (k < n) {
u <- runif(1)
j<-3+1
x <- runif(1) #random variate from g
if (x * (1-x) > w {
#we accept x
k<-k+1
y[k] <- x
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p <- seq(.1, .9, .1)

Qhat <- quantile(y, p) # quantiles of sample

Q <- gbeta(p, 2, 2) # theoretical quantiles
se <- sqrt(p * (1-p) / (n * dbeta(Q, 2, 2)72))
round (rbind(Qhat, Q, se), 3)

10%  20% 30% 40% 50% 60% 70% 80%  90%
Qhat 0.193 0.287 0.373 0.450 0.516 0.577 0.629 0.701 0.788
Q 0.196 0.287 0.363 0.433 0.500 0.567 0.637 0.713 0.804
se 0.010 0.010 0.010 0.011 0.011 0.011 0.010 0.010 0.010

V V. V V V

M;ugbﬂ[)gfgrao-%gg¢3>a¢$j4{6bf

> round(rbind(Qhat, Q, se), 3)

10% 20% 30% 40% 50% 60% 70% 80% 90%
Qhat 0.198 0.292 0.370 0.439 0.504 0.573 0.641 0.719 0.804
Q 0.196 0.287 0.363 0.433 0.500 0.567 0.637 0.713 0.804
se 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.003
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5p L8 & bolas
Z~N(EN)—V=2"~Xx"(V) ©

U~ X' (m), V~ X' (n) — F =% ~ F(m,n) @
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oS sy

Sl pxis dd 5 6l OB 55 L (Qles! o Sre oS 31 o @) bds sl i) 2l

2258 & slas
Z~NOEN)—V=2"~Xx"(\) 0
U~ X' (m), V~ X' (n) — F =% ~ F(m,n) @

U, V~UGLY)— Zy=+—YlogUcos(Yn V), Zy = @
VvV—Ylog Vsin(YrU) ~ N(+,V)
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oS sy

Sl pxis dd 5 6l OB 55 L (Qles! o Sre oS 31 o @) bds sl i) 2l

3,8 a dolas
Z~N(N)—V=2"~Xx"()) ®
U~ X' (m), V~ X' (n) — F =% ~ F(m,n) @
U, V~UGLY)— Zy=+—YlogUcos(Yn V), Zy = @
VvV—Ylog Vsin(YrU) ~ N(+,V)
log V
U,V r~ U(.7 \) — X = I-\ + log(\f%\—e)

DA

U)J ~ logarithmic(0) @

e e LA t@ww [t] sl YL s

PR
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L o5

U ~ Gamma(r,\), V ~ Gamma(s,\) — X = v_ . Beta(r, s)
U+V

n <- 1000

a <-3

b <-2

u <- rgamma(n, shape=a, rate=1)

v <- rgamma(n, shape=b, rate=1)

x<—u/ (u+v)

q <- gbeta(ppoints(n), a, b)

qgplot(q, x, cex=0.25, xlab="Beta(3, 2)", ylab="Sample")
abline(0, 1)
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> n <- 1000

theta <- 0.5

<- runif(n) #generate logarithmic sample

<- runif (n)

floor(1 + log(v) / log(l - (1 - theta)~w))

<- 1:max(x) #calc. logarithmic probs.

<- -1 / log(1 - theta) * theta"k / k

se <- sqrt(p*(1-p)/n)

p.hat <- tabulate(x)/n

print (round (rbind(p.hat, p, se), 3))
(,11 [,21 ,31 [,41 ([,51 [,61 [,71 [,8] [,9]

p-hat 0.729 0.171 0.062 0.029 0.005 0.003 0.000 0.000 0.001
0.721 0.180 0.060 0.023 0.009 0.004 0.002 0.001 0.000

se 0.014 0.012 0.008 0.005 0.003 0.002 0.001 0.001 0.001

V V V V V V V V vV
TR XK < E
A
|

b iy (3Ll Slsloes



S )5

rlogarithmic <- function(n, theta) {
stopifnot(all(theta > 0 & theta < 1))
th <- rep(theta, length=n)
u <- runif(n)
v <= runif(n)
x <= floor(l + log(v) / log(l - (1 - th)~w))
return(x)

b2 Ul sl



